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Quiz Date: 10th June 2020 

Direction (1-5): Study the following information carefully and answer the questions 

given below. 

Eight persons having different designations in a company i.e., General Manager (GM), 

Deputy General Manager (DGM), Assistant General Manager (AGM), Manager, Assistant 

Manager (AM), Probationary Officer (PO), Section Officer (SO) and Cashier in a company. 

All the designations given are to be considered in a given order (as GM is considered as 

Senior-most and Cashier is considered as the Junior-most). They all have different ages.  

The eldest person is 29 years and the youngest person is 22 years. (All the ages are natural 

numbers) 

The oldest person is not the DGM of the company. A is senior to at least five persons and 

just junior to the one who is the youngest person. Only three designations are there 

between the youngest person and B.  B is elder to E and younger to D. The age difference 

between C and E is the same as the age difference between E and H. Age of E is a multiple of 

5. The one who is SO has an age which is a perfect cube. The age of G is a prime number. D 

is just senior to F whose age which is an even number. H is junior to B but is not 27 years 

old. The number of designations between H and G is the same as the number of 

designations between G and A. 

 

Q1.Who among the following persons is the GM of the company? 

(a)The one who is 23 years old 

(b)C 

(c)The one who is 24 years old 

(d)A 

(e)None of these 

 

Q2.How many persons are senior to D? 

(a)More than five 

(b)Four 

(c)Three 

(d)Two 

(e)Five 
 

Q3.Which of the following combination is correctly matched? 

(a)DGM-E-25 

(b)Manager-B-26 

(c)PO-D-28 

(d)Cashier-F-24 

(e)SO-G-29 

 

Q4.What is the age of the person who is the Manager of the company? 
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(a) 25  

(b) 26  

(c) 27 

(d)28 

(e)None of these 

 

Q5. Which of the following statement is true? 

(a)A is the senior-most person. 

(b)Age of G is 23 years 

(c)H is the junior-most person 

(d)Only one person is senior to E 

(e)Age of B is 26 years 

 

Directions (6-10): In each of the questions below. Some statements are given followed 

by conclusions/group of conclusions. You have to assume all the statements to be true 

even if they seem to be at variance from the commonly known facts and then decide 

which of the given conclusions logically follow from the information given in the 

statements: 

 

Q6. Statement: All patients are negative. Only a few negative is positive. No positive is 

medicine. 

Conclusions  

(a) All negative can be medicine. 

(b) Some medicine can be positive. 

(c) No patient is medicine. 

(d) Some patients can be positive. 

(e) None follows. 

 

Q7. Statement: Only a few plant is tree. All tree is leaf. Only a few leaf is branch. All branch is 

flower. 

Conclusions  

(a) Some flower is tree. 

(b) Some plant is leaf. 

(c) Some leaf can be flower. 

(d) All branch can never be leaf. 

(e) All follows. 

 

Q8. Statement: No Delhi is Pune. Only a few Pune is Mumbai. Only Mumbai is Kolkata. Only a 

few Mumbai is Chennai.  

Conclusions  

(a) Some Chennai can be Kolkata. 

(b) Some Pune can be Kolkata. 
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(c) Some Delhi is not Mumbai. 

(d) All Mumbai can be Pune. 

(e) None follows. 

 

Q9. Statement: All sky is blue. All blue is cloud. Only a few sky is green. Only a few white is 

cloud. 

Conclusions  

(a) All white can be cloud. 

(b) Some blue is white. 

(c) Some cloud is green. 

(d) Some blue can be green. 

(e) All follows. 

 

Q10. Statement: Some gift is nature. All nature is kind. Only a few kind is care. No care is 

anger.  

Conclusions  

(a) Some kind is not anger. 

(b) Some gift is kind. 

(c) All nature can be gift. 

(d) Some nature can be care. 

(e) All follows. 

 
Directions (11-13): Letters in the words given in each of the following questions are 
to be coded based on the codes and the conditions given below:  
 

Letters A f e g j u x w t 
Codes 1 4 9 3 7 6 5 2 8 

 

Conditions: 

(i)If the first letter is vowel and the last letter is consonant then both are coded as code of 

last letter. 

(ii)If the first as well as the last letter are vowels then their codes are interchanged with 

each other. 

(iii)If the first letter is consonant and the last letter is vowel then both are coded as the 

code of the first letter.  

 

Q11. What is the code of ‘afgjw’? 

(a)24371 

(b)14372 

(c)24372 

(d)14371 

(e)None of these 
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Q12. What is the code of ‘xtaju’? 

(a)58176 

(b)58175 

(c)68176 

(d)68175 

(e)None of these 

 

Q13. What is the code of ‘ugtfe’? 

(a)93846 

(b)63849 

(c)93849 

(d)63846 

(e)None of these 

 

Direction (14-15): Study the following information carefully and answer the given 
questions: 
Q14. Read the following statements and answer the question. 
I. Finally, the government has decided to sell off its sick industrial units, which have 
become a burden to it. 
II. Corruption, inefficiency, and red-tapism have led to heavy losses to the government-
owned industrial units. 
Which of the following is true with respect to the above statements? 
(a) Statement I is the cause and Statement II is its effect 
(b) Statement II is the cause and Statement I is its effect 
(c) Both statement I and II are independent causes 
(d) Both statements I and II are effects of independent causes 
(e) Both statement I and II are effect of the same cause 
 
Q15. The Internet Cafes are incurring heavy losses these days as people prefer to use the 
Internet in their mobile, PCs, and Laptops. 
Which of the following statements can be an effective course of action? 
(a) The Internet Cafe should be converted into coffee cafe. 
(b) The Internet should be closed and new project should be started there. 
(c) More funds should be invested in the Internet Cafe. 
(d) Internet Cafe should be banned. 
(e) None of these. 
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Solutions 

Solutions (1-5): 

Sol.  

Designations Persons Age 
GM C 22 

DGM A 23 
AGM E 25 

Manager G 29 
AM B 26 
PO H 28 
SO D 27 

Cashier F 24 
 

S1. Ans.(b) 

S2. Ans.(a) 

S3. Ans.(d) 

S4. Ans.(e) 

S5. Ans.(e) 

Solutions (6-10): 

S6. Ans.(d) 

Sol.  

 
S7. Ans.(b) 

Sol.  
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S8. Ans.(e) 

Sol.  

 
S9. Ans.(c) 

Sol.  

 
S10. Ans.(e) 

Sol. 

 
Solutions (11-13): 

S11. Ans.(c) 

Sol. Condition (i) is applied. 

S12. Ans.(b) 

Sol. Condition (iii) is applied. 

S13. Ans.(a) 

Sol. Condition (ii) is applied. 

 
Solutions (14-15):  
S14 Ans.(b)  
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Sol. The government has decided to sell off its industrial units because the heavy loss was 
caused by corruption, inefficiency, and red-tapism. Hence statement II is the cause and I is 
its effect. 
 
S15. Ans.(e)  
Sol. It can’t be a better course of action to convert the Internet Cafe into Coffee Cafe. Also, a 
new project at the place of the internet cafe after diminishing it can’t be a rational course of 
action. More investment in the loss-making project is also not rational without a strong 
strategy, and the 4th statement is illogical – not a good course of action. 
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